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Attempt six questions in all.
Question No. 1 is compulsory.

F B: FIT BA HIAT |
qIT g 1 JFAaE 8

1. (a) Fill in the Blanks :

R = = g @it :
P.T.O.
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(i) Agar is commercially extracted from

algae.

FR _____ Fael A FradidE w9 ¥ Feren s
2

(i) Gametophyte of fern is called

w & AMfheE W wEr ¥

(iif) Digestion in Sycon is
WEHRT N qree o R

(iv) Dolipore septum is present in

AR ¢ X U S 2

(v) Petiole is modified into green leafy structure

called (5x1=5)
B UHER GEAT ¥ @NE ssA @ - war
i

(b) Give one point of difference between the following

pairs of terms :
FfoRes 99 % ¥ U 3R TRy |

(i) Bilateral symmetry and Radial Symmetry
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feueia wegan 3k Aftqw aweaar

(i) Ectomycorrhiza and Endomycorrhiza
VHRMAIEITEST T ReMTEhIEs

(iii) Flame ceils and Malpighia;l tubules

(iv) Plant and Animal Viruses.
T 3k Gwﬁ I

(v) Monotremes and Marsupials (5x1=5)

ARG R AR

2. (a) Gymnosperms have not been as successful as
angiosperms. Why ? (5)

Trelw, fEeds & e ewe 2 YA @y 7

(b) Discuss the commercial uses of algae in details.

(5)
A & EEE ST W RER ¥ et S

(c) Explain why bread, wood and leather may go.
mouldy while glass and plastic do not. (5)

P.T.O.
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v B 2 wed agd smerh ¥ AQ, T ek
TEHS W FEET ¥ I R R AT WY ok e
W S I

3. (a) How does the reproduction of a virus differ from
that of a bacterium ? (6)

AU R AT e e o FEa ¥ e yER
e 27

(b) In Bryophytes, sporophytic generation is dependent
upon gametophyte generation. Explain it with the
help of life cycle of any Bryophyte. (6)

a@mmﬁ@%ﬁﬁa%ﬁﬁﬁm%mﬁﬁ%n
frt S SeiwzcE & Wew 9% @ wer ¥ wamo

4. (a) Discuss the role of micro-organism in the following
areas :
(i) Industry
(ii) Medicine
(iil) Agriculture

(iv) Sewage treatment (4%x2=8)
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frefofee &l ¥ qew A #1 dveE TaEg

(iv) W e

(b) Write short note on morphology of a mushroom.

4)
T A FAHERS ® TR A Roh e

5. (a) State one point of difference between :
@ e iy W IR we g
(i) Bones of birds and those of vertebrates
el & sl ik Pt W eReEr
(if) Lungs of birds and lungs of mammals
TfdE % Bed 3N WAl B hwe
(iif) Polyps and Medusae

dfra 3k A

P.T.O.
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(iv) Bony fishes and Cartilagenous fishes
HRAHT 3R JuRIag T
(v) Heart of Frog and heart of Rat (5x1=5)

W W g WK T W g

(b) Write the characteristics features of either Phylum
Echinodermata or Annelida. @)

WIEEH TRIEARGE 3l QAR & ffiee sfmem
feifaw |

6. Explain why :
AR HIY :

(a) Phylum Arthropoda is the most successful animal
phylum.

S SATRST FR Wl Sig €" |

(b) Tapewarm can survive without a coelom, a mouth,

a digestive system, or an excretory system.

HeFE o Rew, de, woET w9 v ST 7
fa & e w® s 2
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. (¢) Humans are chordates, yet they lack most of
the main derived characters of chordates.
(3x4=12)

¥Me vh gRema wikc (W) 21 fe o e
oAl A T AR 78 A | s R

7. (a) Explain the role of natural selection in evolution.

(6)
fawm ¥ walew @ A qfew & W ¥ =
End

(b) Explain five kingdom classification and justify
the basis of classifying fungi as a separate
kingdom. (6)

df A A it & W) ¥ R ¥ 99y | e
1 JUF TEAEG H T H W T |

8. Write short notes on any three:
el e W dR R
(i) Life history of Taenia solium

WG F WG TF

P.T.O.
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(i) Underground modifications of stems

T SR TR
(iif) Industrial melanism

v sifdgroora
(iv) Human evolution 4)

qg [Rew

(400)



